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U.G. 1st Semester Examination—2024
ENVIRONMENTAL STUDIES

[Value Added Course (VAC)]
Course Code : ENVS-VAC-T-1
(Environmental Education)
INEP-2020]
SET-2/2nd HALF

Full Marks : 40 Time : 90 Minutes

Instructions to the Candidates:

e Candidates will be provided with a question cum answer booklet.

e The booklet contains 50 multiple choice questions, each carrying 1 mark. Candidates
will attempt 40 questions from the following (MCQ).

e Candidates must fill up his/her Registration Number, Year & Roll Number in the
space provided. '

e Do not make any rough work on the answer booklet.

e At the end of the examination please return the answer booklet to the invigilator.

Registration No. Year

Roll Number

Signature of the Invigilator
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Answer any forty (40) from the following questions. [Choose the correct option and put

~ tick (v) mark beside given box]: 1x40=40 .

freffie emefer e Rem Pdfon = ffe < B () B2 fic T me (@G blemS
(80)]: : :

1

The Forest Rights Act (FRA), 2006 intends to:
T HfPIR W2, J00b GF S

(1) Recognize marginal and tribal communities’ rights over forest land over which
they were traditionally dependent

e e Tag AT R TAGIER s St Ffe (rexi 7@ Som vt
afgaree Msafe fis '

(2) Empower local self-governance
ZIE F-413 Ao

(3) Towards issue of poverty alleviation and pro-poor growth is paid heed to
wifee fawse @3k wfig-smele eqfim e sEms ment _

(4) Towards conservation and management of natural resources of India
SRATSH AFFEF T2 AT '@ Ao 51

Choose the correct option given below: A

At et 5o wm va e

a) Onlyl O
GYNE |

b) Onlyland?2 ]
Sqg 1 93k 2

c) All of the above ]
TR TR :

d) None of the above 1|
TARI @D T

The Montreal Protocol on substances that deplete the Ozone layer aims to control
the production and use of: :

WCW’W@GWWWW@@QWQWMWW, ~ifb =

(1) Dichloromethane

iR

(2) Chlorofluorocarbons

AR
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(3) Hydrofluorocarbons

G
Choose the correct option given below:
A (a7t #o R v I
a) 1and2only

BEE | @R 2
b) 2 only

By 2
¢c) 2and3 only

VLAY 2 @32 3
d) 1and3 only

BYE 1 @R 3

I G e

O

Soil erosion and desertification least likely resulted in which of the following cases?
b7 F G2 e, e @i (F0g T3 e[ AYRA! T2

a)

b)

c)

d)

Over cultivation

fefae b

Unrestricted grazing

wfaafEs s

Deforestation, poor irrigation _practiées

o e, T4 G 2o

Proper resource utilization and maintenance
FHAd IYELY FIYT GR THACIF

The term 'environmental pollutant' has been defined as:

“sifaTa T 1wh KeIRS Al AR G2
a) Solid, liquid or gaseous substance present in concentration that is
harmful to the environment
fofir® weCY Sl i, ae 1 A o A SAfTacs T wew
b) Hazardous substances that are responsible for pollution
fRetegme sl Tt ETRE &= Wil
¢) Takes into account air, water and noise pollution
Y, Tre @R *I3 Eel Reama ¥
d) All of the above

T A

T TR 7 AN g R

vt Sl 7 MOCR B Do B
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Two components of automobile exhaust which can interact to produce secondary

pollutants are:

BRI e 9b Soifia At #Arr=7e ferra T (Mo Crei 1@ Sesime e

a)  Carbon monoxide and nitrogen oxides

. I TAHIRG GR ARG THZT
b) Nitrogen oxides and hydrocarbon
TREGIE SRS 93] G
c) Carbon dioxide and sulfnhur dioxide
I TR-SHIRT G AETHE T THZG
d)  Sulphur and nitrogen oxides
ATEIR G ARGIE STHTT
Acid rain is caused by:
wieTe IR @ IR =

a) Excess production of coal gas
@A SR SeRe Seaimm

b)  Excess release of CO, due to increasing combustion and respiration
T o R W2 R0 CO, 97 wifefae e

¢)  Excess release of SO, and NO, from burning fossil fuels
G G ARSI (30 SO, 93 NO, 97 wifefie e

d) Excess production of gaseous hydrocarbons

A PRGFER SfoiE Teotvn

Under the air act, 1981 which body is empowered to set standard for ambient air

quality?

O

e G R

= P A

3

Y 2, SovS 9T HAE @I AT Ao gz v Fdiad s9m el (rewl TRE?

a) Ministry of Home Affairs
FAG el
b)  Central Pollution Control Board
Cpei3) el fevre ofew
c) Ministry of Forest and Environment
3 8 2/ TR
d) Ministry of Heavy Industries and Public Enterprises
I e @ iIfers Sotsl wEelteT |

0l

]
O
O
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The hot spot of biodiversity conservation are characterized by:
& Tafoa e Bobaf T wE fie Fal -
a)  High endemicity and high threat of extinction
B ZAEe! Gk Refi T S
b) Low endemicity and high threat of extinction
w0 FAme! @ REfed T SEl
¢) High endemicity and low threat of extiﬁction
Tw el ¥k REffe T e
d) Low endemicity and low threat of extinction
v ATl @3 e =9 S
World Environment Day coincides with the commemoration of:
fony sifarcae et <@ gfew e et T
a) Montreal Protocol
Afoe (eI
b) Vienna Convention
for! FreTI
c) First United Nations Conference on Human Environment
A AT REre s EifesiRy HHE
d) Helisinki Declaration
A e
Minamata disease is due to pollution of:
VTR (@ I FAiG et 2 O 26
a) Organic waste into drinking water
S et T8 &
b) Oil spill in water
A (97 2O ATl
<) Industrial waste mercury into fishing water
g 4= e R 46 ST
d) Arsenic into atmosphere

IYNGTE A

102/Env.Std(N)/2

O
O
O
O

R VAN R

o R 0 R
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11. What is the objective of “polluter pays principle”?

“TRPIA Y 2wl TS @7 Sy e

a)  Pure deterrents effect ]
o efetais aor

b) Retributive effect |
eferiieEs 2o

¢)  Ensure that the victims of damage are compensated as well as that the
degradation so caused to the environment is mitigated O
HOAZ ORI (O AN =i @ S Wi, ©f eifits 2EmE ol
fafs® a1

d)  All of the above =
TR AT

12.  Sustainable development:

EfoMet Sz _

a)  Meets the need of the present without compromising with
those of future generations ]

S G AN AT 1 A TSN NS (5
b)  Maintains a balance between social and economic development along with

protection of nature ]
- ofOR I AN A € Wt Saares W Sy 967 e
¢) Is consistent with long term development and growth (]
WG Tagw @3k 3w e eyl
d) All of the above O
AR FIGT '
13. Environmental education encompasses the issues of:
Afeere Fre Ranefs seve se:
(i) Resource consumption
A9 R
(i1) Environmental degradation
MBS GEACED I
(iii) Biodiversity loss
Graeaibrara wfe

[Turn Over]
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(iv) Economic empowerment
GYATeT FTOR

(v) Climate change and its impact
e 2fAaea @R O &eR

Choose the right option:

Ao Tel @z Ae:

a) i, i, iii, iv

b) i,ii,iii, v

) i, iii, iv, v

d) iiandvonly
il 93 v wYIg

102/Env.Std(N)/2

OO0

The three R’s that will help us to conserve natural resources for long term use are:
AR YRR G AFRes 7o A5zmeeed (@ foab R Ssimwa A2 F0d ©f 291

a) Recycle, regenerate, reuse

b) Reduce, regenerate, reuse

c¢) Reduce, reuse, redistribute

T T4, 2R, A ewd w4

d) Reduce, recycle, reuse

R S A

Which one of the following is the correct definition of “Agenda 21”7

53 @ “Agenda 217 @3 F5F gl 2

a) It is an action plan of U.N.O for protecting human rights
% SIAIfEReT 719 & UN.O @9 @3B < sifareseil

b) It is a book of 21 chapters on nuclear disarmament
G5 Ao fadiead e 23T wiEe 9 b 7

c) Itis an action plan for the sustainable development

«ft EfoNs SaacTa o it o oifaasmt

o

d) It is an agenda for the election of the president in the next meeting

of SAARC

45 SAARC @3 939! (3973 AF#S Wiz ol arae
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16. The most appropriate definition of a natural resource is that it is a substance/
commodity that is:

a9 Wwwﬁﬂ@ﬂww@aﬁmﬁ vmvf/w-"nm

17.

18.

a)

b)

c)

d)

Present only on land

WY GHCS I6

A gift of nature which is very useful to mankind
oo @ Sofzia 1 SFREIReR &R 9% S
A man-made substance placed in nature

agfors Zfere uafb wmaye amd

Available only in the forest

G A 2T A

Greenhouse effect is warming due to:

a) Infra-red rays reaching earth
wREES af #ff{dice (A=
b) Moisture layer in atmosphere
IS SR BT
c) Increase in temperature due to increase in carbon dioxide
concentration of atmosphere
TG P TR THROTA TG Jaw P S I
d)  All of the above
T FAB !
Which of the following acts is popularly known as Umbrella Legislation?
fea @ WA S wize R ewiem 2
a) The Water (Prevention and Control) Act, 1974
e (effStary ¢ fage) wiRe, s»48
b) The Air (Prevention and Control) Acf, 1981
a1y (eferany e ) wiizs, ssvs
c) The Factories Act, 1948
PR ZA, S58Y
d) The Environment (Protection) Act, 1986

- R e @ e Tree! i A

oAfaTa (FTT) WZH, Soby

1 i % e 78§

1 o SO w e i

[Turn Over]
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Under the Constitution of India “Forest” and “Protection of wild animals and birds"
comes under the:

SIS HRUITTE SR a7 @R “I 2 G ARG e TR SR S O &

a) State list O
ey wifer!

b)  Union list ]
e oiferl

¢) Concurrent list 4|
HRS| siferl

d) None of the above O
ToltEa (I 7

Climate of the world is threatened by:

@ 31z Res sy Rews 793:

a) Increasing concentration of atmospheﬁc oxygen | El

b) Decreasing amount of §m05pheric oxygen ]
IR S Al S e _

¢) - Increasing amount of atmospheric carbon dioxide N
IR 1L T2 TEZ0eR A I

d) Decreasing amount of atmospheric carbon dioxide O
AYNGA I TR SHIRCGA AT ZP

Which of the following best describes the relationship between exponential population
growth and natural resource consumption?

e @F SHI TRl a9 2iTET oI IR N TS MDA SIS
3l FR 2

a) Linear relationship

O
s o
b) Inverse relationship |
fRordire i _
¢) Exponential relationship O
58 7t
d) No relationship O

@ T
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22. The concept of ‘Tragedy of the Commons’ is most closely associated with which of
the following?

TieafS e v wwey 4izeifs e e e s @ wfte 2

a)  Privatization of property s

b)  Overuse of shared natural resources O
Sl T ARFT oI wfefae Taga

¢)  Urban migration |
BREACICEIME]

d) Government subsidies for agriculture ]

23. Which of the following best explains the term ‘carrying capacity’ of the Earth?

S ‘e ST XA BT S| el A ?

a) The number of people Earth can support with unlimited resources ]
FEA 7o W A FoE TS 4179 FA0 AN

b)  The maximum population that Earth can sustainably support ]
{231 o5 T© TSI GIHTSIC 4179l FACS AT

¢) The weight of biomass on Earth ]
+{f2i<ite teeREd s

dj Earth's total landmass divided by population £l
*f43 @ wHet Tl oist 3t

24. How does climate change contribute to ocean acidification?

G ARG Faa wHwAre i S AL 2

a) By increasing UV radiation 5 g
wferze RiFad 3% vz

b) By increasing carbon dioxide absorption in oceans |
HCE P TR SRS e 3

¢) By increasing salinity O
Al E @

d) By melting glaciers ]
f&ararz sitet Anearm T

[Turn Over]
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How does climate change threaten biodiversity?
GerdRy #fada FreiE GRtabas eifea e (F e ?
a) By increasing soil nutrients
e +4fe 3fa @
b) By creating stable ecosystems
e argey vl v
¢) By altering habitats and migration patterns
WRITEE G WS 479 Afwés
d) By reducing natural disasters

e qdial 2m 3

WI

102/Env.Std(N)/2

O

O

The Paris Agreement, 2015, aims to limit global temperature rise to well below:

305 ¢ AR AR pfe= o1 2 (afie siomal Ifars sims e s i

a)  1.0°C above pre-industrial levels
&I~ BT T 5.0° Gk
b) 1.5°C above pre-industnal levels
ars-fArs wea it 3.¢° Gt
¢) 2.0°C above pre-industrial levels
&1<e-fois BT Toit 1.0° GRS
d) 3.0°C above pre-industrial levels
- W TR 9.0° GRS
The Basel Convention is primarily concerned with:
AT FACST eTe (@ Ragefem e s=ifFs:

a) Marine biodiversity

- T SRt
b) Trade in endangered species
fRom ewifen ey
c¢) Transboundary movements of hazardous wastes
fRefeeme qrafa SeeHNg 5ava

d) Ozone-depleting substances

erE-FAFal Avie

[

[l
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28. According to the PWM Rules, 2016, what is the minimum thickness prescrlbed for
plastic carry bags?

205 AT PWM Fr Sepiics 21550 i <o oy SR (@ 9 7

a) 30 microns O
0o T

b) 40 microns =]
80 WiZF+

c) 50 microns ]
o T

d) 60 micron (5]
Yo NiZEH

29. What is the role of the Local Body under the Plastic Waste Management Rules, 20167
2% 3o g RREE, 205y 97 SBE 7N AR i o

a)  Granting environmental clearances _|:|
AR g emi

b)  Monitoring usage of plastic in industries ]

¢)  Establishing waste collection, segregation, and disposal systems ]
&S R, AP G2 Em 737 i

d) Controlling plastic imports O
2155% st fzge w1

30. Which of the following is NOT a function of the Central Pollution Control Board
(CPCB) under the E-Waste Rules, 2016?

2ef 7, 205v @7 SRw @@ e g @rs (CPCB) 97 @ e’ FEkEReekE

Y AT 12

a)  Granting authorization to producers : O
TRA TR ST el

b)  Coordination with SPCBs ]
SPCB-@3 It 59y :

¢) Preparing guidelines for collection | _ 4
WRATZR T Tt age a1

d)  Imposing penalty on illegal importers ]
SR ISR S Sl Sicaie 321
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Which agency in India is responsible for certifying “green crackers
SIS (@I F¢Z I A5 AR o Wil 2

a) ISRO

b) CSIR-NEERI
c) ~ FSSAI

d) DRDO

Which of the following statements is true about blodlversny hotspots?

GG 06 s e @ia Rl e 2

a) = Hotspots have the highest number of globally invasive species
LhRfEe Rl S awfon s S[eE @

b)  They are low-priority areas for conservation due to habitat loss
SRS FOoq P 98 FFHEF Ty T IR G

¢) They are rich in endemic species and face exceptional levels of threat
e ZIE i Ta 9k I Ta =ea g

d)  All biodiversity hotspots are found in temperate regions
g E<eabar eibefa afeRiere siwE sew T

The primary objective of the People’s Biodiversity Register is:

TR Gitafbe s e S 22

a) To document forest cover in protected areas
S eI Ief Sfiee 9

b)  To record traditional knowledge and local biodiversity
G2 B G AT SR @ T4

c) To list endangered species for [IUCN
iE 38 B @1 -3 e ol awifen oifere (o

d) To enforce wildlife protection laws

TN el WiEH et

(7 s [ B IR

ERl - [

[

Which of the following pollutants is most commonly released in large quantities

during the bursting of firecrackers?
w3l Fowra Forw fmferfe e vaes simiefs s @ s Fefe zae

a) Carbon monoxide

I TARAZS
b) Ozone
- erEE
¢) Sulphur dioxide
AT TIREHZES
d) Methane

filrgw

6 P A S b
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Under which Iegal' framework is the People's Biodiversity Register mandated in India?

() mwﬁﬁmwﬁmwm@mﬁwmm?

"a)  Wildlife Protection Act, 1972 O
IV T2 3, yvas
b)  Forest Rights Act, 2006 i)
3 GiEPIF BT, Y000
¢) Biological Diversity Act, 2002 =l
e wfbw @izs, 200y
d)  Environment Protection Act, 1986 =
AT S o3, Sovy

Which of the following is a major challenge in sustainable resource management
globally? :

R (B2 7w 1o foicsa mﬁaﬁwmﬁ?

a)  Abundance of renewable resources ]
AR H=2inz ApE

b)  Equitable distribution of resources ]

TR Y T

¢)  Overestimation of resource reserves O

d)  Strict enforcement of environmental laws =1
AT SR ST ezl

A major challenge in managing renewable resources like forests is:

TCTH ST FIRNANY =547 IR (0 G IS 571z Ze -

a)  Limited global demand J
Sifire tafes wifzm

b) Political instability ]
TGS Wizl

-¢)  Unsustainable exploitation and illegal logging ]

SRS carmet = s 15 5!

d)  Inaccessibility of forest areas ]
IR Fofae!

[Turn Over]
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Integrated Water Resource Management (IWRM) focuses on:

Fufe® & 7w GaFe= (IWRM) Fafeis Reanefr Sue @i om:

a)  Privatization of water resources ]
G A EARBIRITA

b)  Sectoral management of water I ]
IGERICIS T AR E |

c¢) Coordinated deve]opment and management of water, land and _
related resources ]
e, i e B A TR T @R A '

Id) Emphasizing only groundwater recharge ]

VYNNG NS THTA AFI2EE TAF (&1 (red

Which Sustainable Development Goal (SDG) specifically targets sustainable cities
and communities to address urbanization challenges?

AR GG (RPN (G52 *127 € FRMI o1t RO it o) 0 (i (55972 Tra
=% (SDG) fAdfze @1 2z ?

a) SDG 13 ]

b) SDG 15 O

c) SDGI1 O

d) SDG9 ]

Which of the following is not a direct consequence of deforestation?

5 @R 3 Suitea TP wAfwefe T e

a) Loss of biodiversity ]
G #fe

b) Increased carbon sequestration o
i Heen 3

c) Disruption of water cycles | ]
TEBE NS

d) Soil erosion : 0

wifta =7
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Which type of forest is most vulnerable to desertification due to deforestation?

3 TEIG T P 4R T SRS iR 2en IfF S—E @i e

a)

b).

c)

d)

Tropical rainforest

TS RS

Temperate deciduous forest
FfeArere Aemb 7=

Dry deciduous and scrub forests
S 2D 93 @IPRITT T
Mangrove forests

IETS I

O

[

In terms of the IPAT equation (Impact = Population x Affluence x Technology), which

of the following contributes most to environmental de

countries?

IPAT FRICTR (QOR = Gopieat x Tl x @) ~ifiefes, Tre omshis sAfaramiore
SHFEA (704 (W5a @IS FAE @ S e 2

a)

b)

c)

d)

The concept of "Ecological F ootprint" is used to measure:

High population.

T Tl

Advanced agricultural techniques

THe R e

High levels of consumption (Affluence)
T N[@R Celel (31%)

Lack of technology

a3y oo

“qrgare omivz Ao w3

a)

b)

)

d)

Biodiversity in a region
G0 G STy

Human demand on Earths ecosystems

S| IrweTE TEE sz

Global temperature rise
ol s 3
Sea level changes

TR e

gradation in developed

]

B Y

27 R 7 I 0 (S

[T urn Oi:er]
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Which of the following is an outcome of climate change that directly impacts human-

environment interaction?

a)  Cultural diffusion .
Acgies [Rwm

b)  Coastal flooding and displacement

Teigata 31 9k FIpe

¢) Technological innovation
ayfese Tgim
d)  Population pyramids
SR foraifire
Which of the following best represents the goal of environmental education?
Ao e sewra SR i efefifig w Sanivks
a)  To increase knowledge about natural resources
AP ool oA el % ot
b)  To develop skills in environmental science
“Hfe R vt Rt =i
¢) = To promote sustainable behaviour and decision-making
(BITR Wil5ael 3% e srgres 2ste <

d)  To teach conservation laws
ORI R R

50 " 1 7 A

L] e T

Il

Which of the following is NOT a criterion for identifying Wetlands of International

Importance under the Ramsar Convention?

“q?

a)  Supports vulnerable, endangered or critically endangered species

IReote, Reotm A1 wroaem Rom aerifon smel @
b)  Has high annual rainfall throughout the year
I T2 4 T IR JResife 77

mwﬁmm@mmﬁ%@wwﬁmmﬁmﬁm

]

O

c) Supporté plant and/or animal species at a critical stage in their life cycles O

Bfen @3 /wwmﬁmmmaﬁwﬁﬁmwzﬁm
d)  Regularly supports 20,000 or more waterbirds

fFrafeeIa 20,000 3t 11 @R TEAIRE LT 7

O
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Eutrophication in water bodies is mainly caused by:
TR TSGR dxie frsfEie SR ¥i:
a) Heavy metals

oIl 419

b) Radioactive substances
coefE omid
¢) Nutrient enrichment (Nitrates and Phosphates)
A TEFad (D6 9% FAEFD)
d) Oil spills- |
(o= e+t
What is the primary goal of environmental public awareness campaigns?
AR TITSTORET 25N &S =79 S 2
a) = To increase sales of green products
e #elrs Rew 3fa ==
b) To promote tourism in natural parks
e TrmelETe G a5z 3t
¢) To change behaviors and attitudes toward the environment
AT & wibad g3k TSl ATy T
d) To gather data for scientific research
TR SR &) 2 FReE 91
Swachh Bharat Abhiyan was officially launched on which date?

2 OIS YA WTRTed (@I Sifire v 2r@fRe ?

a) 26 January 2014

Y GG, Y058

b) 15 August 2014

SE TIFT 3058 :
c) 2 October 2014

3 TP 2058
d) 5 June 2015

@ ge R05¢

O

[

[Turn Over]
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50. The Swachh Bharat Mission aims to achieve which of the following UN Sustainable
Development Goals (SDGs)?

R OIS e o7 28 Gifeed (52 Saae o7 (SDG) (I e 41 ¢

a) SDG 1-No Poverty ]
SDG - wiffuse 3 |

b) SDG 6 - Clean Water and Sanitation : | ]
SDG ¢ - [Reg we @R MG

c) SDG 13 - Climate Action ]
SDG s - TRy Fae

d) SDG 11 - Sustainable Cities and Communities ]

SDG 33 - (593 =123 32 AT



